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SHEE s = LI 8 e
R2.4.6 R2.5. 11 R2.6.1 R2.7.2 R2.8.3 R2.9.7 R2.10.1 R2.11.2 R2.12.7 R3.1.5 R3.2.1 R3.3.1

KEAFVEE (oH) PH 8.2 8.2 8.4 8.4 8.2 8.4 8.2 8.4 8.2 8.2 8.2 8.2 5 8L E~8 6LLTF
EWIEFENBRERE (BOD) mg/Q 0.5 Kith 0.5 Kih 0.5 Kith 0.5 0.9 0.5 Kil 0.5 0.5 Kil 0.5 Kith 0.5 Kil 0.5 Kith 1.1 20LLF
EFHERER=E (COD) mg/Q 1.5 1.6 1.6 2.1 0.5 X 2.2 2.4 2.5 1.8 1.6 1.5 1.5 20LLF
FiEYEE (SS) mg/Q 1 K [ES 1 ki 1 Kk 1 ki 1 Kk 1 K& [ES 1 1 R 1 ki [IEY: 204 F
JILRIIAFTY UHEYE (i) mg/Q — 0.5 ki — — — — — 0.5 ki — — — — 5T
JIILRIUATHUHENE (EhEYh) mg/Q — 0.5 K — — — — — 0.5 K — — — — 30LLF
Jx/—)LEEE= mg/9 — 0.05 k& — — — — — 0.05 k& — — — — 5LLF
HEEE mg/Q — 0.01 K% — - - - — 0.01 ki — — — — 3T
HIREEE mg/Q - 0.10 — — — — — 0.04 — — — — 2T
BRERESEE mg/Q - 0.01 - - - — - 0.01 ki - - - — 10LLF
BEUEI A UER=E mg/Q — 0.01 X5 — — — — — 0.01 X% — — — — 10LLF
YOLERE mg/Q — 0.01 XK — — - - — 0.01 ki — - - — 2LLF
SOFRRUVZDIEEY mg/Q — 0.5 Kl — — — — — 0.5 Rl — — — — 15LF
KBEEER &/cm’* 0 3 0 1 0 0 0 0 0 0 0 0 3, 000LLF
EE L mg/Q - 0.8 — — — — — 0.8 — — — — 1204 F
JUBEE mg/Q — 0.02 — — — - — 0.05 — — — — 16LLF
HAESOLRUZDIEEY mg/Q 0.003 %% 0.003 % 0.003 X% 0.003 % 0.003 X% 0.003 % 0.003 %% 0.003 % 0.003 k& 0.003 X 0.003 X% 0.003 ki 0.03LLF
ST UALEY mg/Q — 0.1 Kih — — - — — 0.1 Rl — — — — 1LUF
Y VIEED mg/Q — 0.1 Xi# — — — — — 0.1 Xi# — — — — TUTF
BERUZDILEY mg/Q 0.01 X 0.01 K% 0.01 XKi 0.01 ki 0.01 XKi 0.01 ki 0.01 XKi 0.01 ki 0.01 XKi& 0.01 ki 0.01 XKi 0.01 ki 0. 1LLF
Nl O LIEAEY mg/Q 0.02 k& 0.02 %% 0.02 X%;j 0.02 %% 0.02 k& 0.02 X% 0.02 k& 0.02 X% 0.02 X%j 0.02 X% 0.02 k& 0.02 X% 0.5LUTF
WERVFZDIEEY mg/Q 0.01 K& 0.01 ki 0.01 ki 0.01 ki 0.01 ki 0.01 ki 0.01 ki 0.01 ki 0.01 ki 0.01 ki 0.01 ki 0.01 XK 0.1LLF
JKEBR U7 ILFILKEBZ DI DKEBILEY mg/Q 0.0002 k& | 0.0002 sk [ 0.0002 k& | 0.0002 ki@ | 0.0002 k| 0.0002 k& [ 0.0002 ki#&| 0.0002 k& | 0.0002 k[ 0.0002 k| 0.0002 k& | 0.0002 ki 0.005LLF
T ILEILKERIEED mg/Q 0.0005 >K;#| 0.0005 K[ 0.0005 K| 0.0005 K| 0.0005 Ki#| 0.0005 K[ 0.0005 K| 0.0005 K| 0.0005 K| 0.0005 K| 0.0005 K| 0.0005 Kl [BHShANIE cxx2)
ARYBIEEZ T Z )L mg/Q — 0.0005 k& — — — — — 0.0005 k& — — — — 0.003LLF
ryyBpRIFLY mg/Q — 0. 001 ki — - - - - 0.001 ;i — - — — 0.1LLF
ThZ00TFLY mg/Q — 0.001 k& — — — - — 0.001 k& — — — — 0. TUF
BYEEEEEE P mg/Q - 0.02 %Ki — - - - - 0.02 Fi — - — — 0.2LLF
MIgERER mg/Q — 0.002 %% — - — — — 0.002 % — — — — 0.02LLF
1. 2->4HoOoAIARY mg/Q — 0.004 ki — - - - — 0.004 ki — — — — 0.04LLF

1-o900IFLY mg/Q — 0.02 *kji& — — — - — 0.02 *kji& — — — — 1T
/x 1,2->45o00IFLy mg/Q — 0.04 X% — — — — — 0.04 XK — — — — 0. 4LLTF
BN PEEEX P mg/Q — 0.001 k& — — — - — 0.001 k& — — — — 3UTF
1,1, 2 I~ D EEEX P mg/Q — 0.006 ;i — - - - — 0.006 ;i — — — — 0.06LLF
1,3->/nnJorRy mg/Q — 0.002 %% — — — — — 0.002 %% — — — — 0.02LLF
FII L mg/Q — 0.006 ki — - - - — 0.006 ;i — — — — 0.06LLF
P mg/Q — 0.003 % — — — — — 0.003 % — — — — 0.03LLF
FARVALD mg/Q — 0.02 Xk — — - - — 0.02 ki — - - — 0.2LLF
oz mg/Q — 0.01 %kjH — — — - 0.01 FkjH — — — — 0. TLF
TLURUZDIEED mg/Q 0.01 X 0.01 K% 0.01 K& 0.01 %Kil 0.01 X 0.01 XK 0.01 K& 0.01 XK 0.01 X 0.01 XK 0.01 X 0.01 ki 0. 1LLF
F3RRUVZDILEY mg/Q - 0.16 — — — — — 0.19 — — — — 50LLF
FUOEZTHERR mg/Q - 0.05 ki - - - - — 0.05 ki - - - - -
HEBMER mg/Q - 0.53 - — — — — 0.63 — — — — -
HIHBMEER mg/Q - 0.01 ki - - - - — 0.01 ki - - - - -
iiﬁigméiféﬁAmﬁm‘ﬁ%ﬁ
(FrE-pHER0 ieRCrL0. | "L - 1 R - - - - - 1 R - - - - 2004
BHBEERRUHEBEEROSHE)
1,4-OAFH> mg/Q — 0.05 XKii - - — - — 0.05 XKii - - — — 0.5LF
BRE B 100 Ll E 100 LAE 100 Ll E 100 LAE 100 Ll E 100 LAE 100 Ll E 100 LAE 100 Ll E 100 LAE 100 Ll E 100 LAE -
BEBEE (D0) mg/Q — 9.0 — — — — — 9.9 — — — — -
FAFFI U pg-TEQ/Q 0.0130 — — — — 0.00074 — — — — 10LLF
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#HTAR B R2.4.6 R2.5. 11 R2.6.1 R2.7.2 R2.8.3 R2.9.7 R2.10.1 R2.11.2 R2.12.7 R3.1.5 R3.2.1 R3.3.1 HEfE
KEAFVRE (oH) pH — 8.1 — — — — - 8.4 - - - — —
EWEFHBRERE (BOD) mg/Q — 0.6 — — — — — 0.5 XK - — - — -
IEZMEERERE (COD) mg/Q — 1.5 — — — - - 2.2 - — — — —
FEYEE (SS) mg/Q — [IES — — — — — 2 — — — — —
JIILRILAFH UHEYE (SiYH) mg/Q — 0.5 XK — — - - — 0.5 XK — — - - -
JIILRIILAFTYH UHEYE (BEYH) mg/Q — 0.5 Rl — — — - — 0.5 Kl — — — - -
Jx/—ILEEEE mg/Q — 0.05 ki - — - - — 0.05 K - - - - -
et mg/9 — 0.01 k& — — — — — 0.01 k& — — — — —
HINEHE mg/Q — 0.14 — - - - — 0.18 — — — — —
BEENEEE mg/Q — 0.02 — — — — — 0.03 — — — — —
BREIVACERE mg/Q — 0.01 — — — - — 0.02 — — — - -
YBALER=E mg/Q — 0.01 K& — — — — — 0.01 FkjH - - - - —
SOFRRUZDIEED mg/Q — 0.5 ki - — — - — 0.5 ki - - - - =
AGEER &/cm’ — 0 — — — — — 2 — — — — —
BT mg/Q — 0.8 — — — — — 0.8 — — — - -
JUER=E mg/Q - 0.02 — — — — — 0.03 — — — — —
DRSO LRUZDIEED mg/Q 0.003 ki 0.003 ;i 0.003 ki 0. 003 ki 0.003 ki 0. 003 ki 0.003 ki 0.003 ;i 0.003 ki 0. 003 ki 0.003 ki 0. 003 ki -
ST LAY mg/Q — 0.1 K& — — — — — 0.1 K& — — — — -
R ILED mg/2 - 0.1 X - — - — - 0.1 ki = - - - =
SRRUZDIEEY mg/Q 0.01 ki 0.01 k& 0.01 ki 0.01 k& 0.01 ki 0.01 k& 0.01 ki 0.01 k& 0.01 ki 0.01 k& 0.01 ki 0.01 k& -
ANy A LIEED mg/Q 0.02 ki 0.02 ki 0.02 ki 0.02 ki 0.02 ki 0.02 ki 0.02 ki 0.02 Xk 0.02 X 0.02 Xk 0.02 Xk 0.02 Xk —
HERVZDILEY mg/Q 0.01 ki 0.01 k& 0.01 kj 0.01 k& 0.01 ki 0.01 k& 0.01 ki 0.01 k& 0.01 ki 0.01 k& 0.01 ki 0.01 k& -
KEBRUTILFILKIBEDMDKIRIEEN mg/Q 0.0002 K@ | 0.0002 5| 0.0002 i | 0.0002 ki#| 0.0002 K| 0.0002 kKi#i| 0.0002 K| 0.0002 K| 0.0002 Kim[ 0.0002 Kig| 0.0002 K| 0.0002 ki -
7 IIL¥IILKERIEEY mg/Q 0.0005 k& | 0.0005 k& [ 0.0005 k& | 0.0005 ki@ | 0.0005 k| 0.0005 k& [ 0.0005 ki#&| 0.0005 k& | 0.0005 k[ 0.0005 k| 0.0005 k& | 0.0005 K& —
ROBEEZI I mg/Q — 0.0005 ki - - — — - 0.0005 ki - - — — —
r)sooIFLY mg/Q — 0.001 Xk — — — — — 0.001 %% — — — — —
FrS00IFLY mg/Q - 0.001 ;i — — - - — 0.001 ki - - - - -
PYASI=EX P mg/Q — 0.02 ki — — — — — 0.02 ki — — — — -
MigIERFR mg/Q — 0.002 ki — - - - — 0.002 ki - - — - -
1,2->/00IT43% Y mg/Q — 0.004 %% — — — — — 0.004 X% — — — — -
1,1->/00xFLY mg/Q - 0.02 Xk — — - - — 0.02 ki - - - - -
PR-1,2-o4/00IFLY mg/Q — 0.04 X% — — — — — 0.04 X% — — — — —
1,.1,1-frysnnxay mg/Q — 0.001 ki — - - - — 0.001 ki - - — - -
1,1,2-+)Y00xT42 > mg/Q — 0.006 k& — — — — — 0.006 k& — — — — —
1,3->%np7axRy mg/Q — 0.002 ki — - - - — 0.002 ki - - — - -
FIT L mg/Q — 0.006 k& — — — — — 0.006 k& — — — — -
PEPP mg/Q — 0.003 ;i — - - - — 0.003 ki - - — - -
FARUAILT mg/Q — 0.02 ki — — — — — 0.02 ki — — — — -
oty mg/Q — 0.01 XK - — - - — 0.01 ki - - - - -
TLURUZDIELEY mg/Q 0.01 k& 0.01 XkjH 0.01 Xi& 0.01 FkjH 0.01 Xi& 0.01 FKj& 0.01 XiH 0.01 FkjH 0.01 XiH 0.01 FkjH 0.01 XiH 0.01 K& -
IF5FRUVZDILED mg/Q — 0.17 — — — - — 0.21 — — — - -
TUEZTHER mg/Q — 0.05 *kji& - - — — — 0.05 *kji& - - - _ _
[EEEEES mg/Q — 0.53 — - - - — 0. 61 — — — — —
HEEBMEER mg/Q — 0.01 X5 — — — — — 0.01 X% — — — — —
iz;:jgéiféﬁAmﬁ%~§%M
i T LT - 1RE - - - - - 1R\ - - - - -
BHBREERRUHBEEROSHE)
TS x9> mg/2 — 0.05 %% — — — — — 0.05 %% — — — — -
ERE E 100 LAk 100 LAk 75 Ltk 100 LAk 100 LAE 100 LAk 100 LAE 100 LAk 100 LAE 100 LA E 100 LAk 100 LAE -
FAXXI R pg-TEQ/2 — 0.019 — — — - — 0.29 — — — — —
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*1/5,2/1.3/10 EHFAFIONTIE, MEDF=HORBMTEELATLI=.

TR & O BRI B A
SHFEE 103 R2.4.6 R2.5. 11 R2.6.1 R2.7.2 R2.8.3 B
EFE THE EFE THE EFE THE EFE THE EFE THE EFE
KFAF VRE (pH) oH 7. 7.1 8.0 7. 8. 7. 8. 7.1 8. 7.1 8. —
[EDEFRBEERE (B0D) ng/! 0. 0.5 k& 1 0. 0.5 k& 0.5 ki 0. 0.5 ki 0. —
t+aqﬁ§‘§$; (COD) ng/] 2. 0. 2.4 1. 1. 1 2. 1. 3. 1. 3. —
EEMEE (5S) mg/! 1 11 —
ESEEES 18/cm’ —
AFREIL mg/ 0.0003 % | 0.0003 im | 0.0003 3 | 0.0003 Fim | 0.0003 5 | 0.0003 i | 0.0003 s | 0.0003 im | 0.0003 Fim | 0.0003 ki | 0.0003 i 0. 003LL T
E g/ - — 0.1 ®& 0.1 %kl - — - — - — - BHEEAGELVCE KE2)
3 mg/| 0.005 i 0.005 ki 0.005 ;i 0.005 ki 0.005 ki 0.005 ki 0.005 ;i 0.005 ki 0.005 ki 0.005 i 0.005 ;i 0.0TELF
AN mg/| 0.02 %if 0.02 ki 0.02 Xk 0.02 ki 0.02 Xk 0.02 ki 0.02 Xk 0.02 ki 0.02 Xk 0.02 ki 0.02 i 0. 05LLF
= mg/ 0.001 i 0.00 0.001 i 0.00 0.001 i 0.00 0.001 i 0.001 s 0.001 i 0.001 s 0.001 i 0. 01T
KR g/ 0.0002 i | 0.0002 k% | 0.0002 ki@ | 0.0002 i | 0.0002 ki@ | 0.0002 i@ | 0.0002 ki | 0.0002 ks | 0.0002 5@ | 0.0002 ki | 0.0002 ki R | 0. 000551~
7 IVFILKER ng/! 0.0005 s | 0.0005 ki@ | 0.0005 0.0005 % | 0.0005 i 0.0005 % | 0.0005 i 0.0005 % | 0.0005 i 0.0005 % | 0.0005 3k; [ BHEIABLCE (Kx2)
RUBIEE =)L (PCB) g/ — — 0.0005 k% | 0.0005 ik — - — - - - - - BEEAGELVCE KGE2)
FUSOOTFLY mg/ — - 0.001 i 0.001 i - - - = - — — = 0. 01T
FFSJOAIFLY g/ - = 0.001 % 0.001 ki - - — - - = = — 0.01LLF
" v7|:n:|><su mg/| - — 0.002 0.002 ;i — — — — — — — — 0. 02LLF
r mg/ — - 0.0002 i | 0.0002 ik - - — - - = = — 0.002LL T
e 1,2 mg/| - — 0.0004 0.0004 3 — — — — — — — — 0. 004LLF
1, 1—971:1:1::7—\1‘4 mg/! — — 0.002 k& 0.002 X — — — — — — — — 0. TLF
1, 2 7::::1% LY g/ = = 0.004 i 0.004 3% - = - = - — — — 0. 04T
1,1,1-Fy20ax8y mg/| — — 0.001 %i# 0.001 ki = — — — — — — — TR
T1.2-FJ500T8Y mg/ — - 0.0006 5 0.0006 3 - - - = - — — = 0.006EL T
T.3->/nnJaoRy g/ - = 0.0002 i | 0.0002 ik - - — - - = = — 0.002LLF
FI7L mg/| - — 0.0006 0.0006 3 — — — — — — — — 0. 006 LA
TITY g/ - = 0.0003 i | 0.0003 ik - - — - - = = — 0.003LL T
FARDALT mg/| - — 0.002 0.002 ;i — — — — — — — — 0. 02LIF
RUEY g/ — — 0.001_*#& 0.001 ki — — — - = = — 0.01LLF
LY g/ 0.001 %% 0.001 k& 0.001 i 0.001 s 0.001 s 0.001 k& 0.001 % 0.001 k& 0.001 s 0.001 k& 0.001 %% 0.001 il 0. 0TITF
[REEERR O BRBITE R g/ — — 0.05 ki 0.4 — — — — - — — TOLL T
Ao%k ng/! - = 0.1 i 0.1 ki - = - — — — — = 0.8LIF
E5% ng/] — — 0.0; 0.0 — — — — — = = — TSR
EEREES 4 S/cm 225 204 271 260 310 330 353 212 357 228 413 368 -
BEBAA > g/ 11 21 1 1 15 21 18 8.3 17 10 17 13 -
IR e g/ = - 0.005 %% 0.005 & = — - - — = - — 0055 F
ZH0TFLY BRE-LE/ ) g/ - = 0.0002 i | 0.0002 ik - — — — — - = — 0.002EL T
[BRE 3 15 100 LIE 2 100 LIE 70 100 LIk 40 100 LIk 56 100 LIk 43 75 -
FAFXXL 8 pg-TEQ/2 — — 0.15 0.08 — — — — — — TELR
TRA H R ORI B T
SHTER 153 R2.10.1 R211.2 RZ.12.7 R3.1.5 R3.2.1 R3.3.1 Al
IHE THE EFE THE EFE THE EFE THE EFE THE EFE THE
KFAF VRE (pH) oH 8.0 7.3 7.1 7.2 7. 7. — 7. — 7. — 7. —
[EDLFRBEERE (B0D) g/ 0.8 0.7 0.7 0.5 kil 0.5 &l 0.5 kil - 0.5 kil - 0 - 0.5 kil -
EFMBERERE (C0D) ng/] 31 1.0 3 1.4 2. 1. — 0 — 0 — 0 —
FHMAE (5SS g/ 7 [EY 1 2 — £ — — =
BT 18/cm’® 8 26 0 = — — —
AFREIL mg/ 0.0003 % | 0.0003 ki | 0.0003 i 0.0003 3% | 0.0003 i | 0.0003 i = 0.0003 i = 0.0003 i = 0.0003 it 0. 003LIF
E g/ - — 0.1 ®& 0.1 kil - — - — - — - — BHEEAGELVCE KGE2)
E3 mg/ 0.005 %8 0.005 s 0.005 i 0.005 s 0.005 *im 0.005 s = 0.005 k% = 0.005 ki# = 0.005 Xi# 0. 0TI T
Ao 84 mg/| 0.02 %if 0.02 ki 0.02 Xk 0.02 ki 0.02 Xk 0.02 ki — 0.02 %iis = 0.02 ki = 0.02 ki 0. 05LLF
= g/ 0.001 % 0.001 i 0.001 i 0.001 i 0.001 i 0.001 s - 0.00 - 0.002 — 0.002 0. 01T
TKIR g/ 0.0002 i | 0.0002 k% | 0.0002 ki@ | 0.0002 ki | 0.0002 ki@ | 0.0002 Fkik — 0.0002 ki — 0.0002 ki — 0.0002 ki 0. 000551~
7 IVFILKER ng/! 0.0005 s | 0.0005 ki@ | 0.0005 0.0005 3 0.0005 3 0.0005 ki - 0.0005 ki - 0.0005 ki - 0.0005 kil | BESABOCE (KE2)
RUBIEE =)L (PCB) g/ — — 0.0005 k% | 0.0005 ik — - — - - - - - BESAGELVCE KE2)
FUSO0TFLY mg/ — - 0.001 i 0.001 i - - - = - — — = 0. 03T
FFSJOAIFLY g/ - = 0.001 % 0.001 ki - - — - - = = — 0.01LLF
+ VIEEEX P mg/| - — 0.002 0.002 ;i — — — — — — — — 0. 02LLF
2 BERR g/ - = 0.0002 i | 0.0002 ik - - — - - = = — 0.002ELF
P IR P mg/ — - 0.0004 5 0.0004 3 - - - = - — — = 0.004LI T
Pi-sraaTFLy g/ - = 0.002 % 0.002 ki - - — - - = = — 0.1BLF,
1.2- /7:”:11% LY g/ = = 0.004 i 0.004 3% - = - = - — — — 0. 04T
1,1,1-Fy20ax8y mg/| — — 0.001 %i# 0.001 ki = — — — — — — — TR
T1.2-FJ500T8Y mg/ — - 0.0006 5 0.0006 3 - - - = - — — = 0.006EL T
7.3->/nnJaoRy g/ - = 0.0002 i | 0.0002 ik - - — - - = = — 0.002LLF
FI7L mg/| - — 0.0006 0.0006 3 — — — — — — — — 0. 006 LA
P g/ - = 0.0003 i | 0.0003 ik - - — - - = = — 0.003LLF
FARDALT mg/| - — 0.002 0.002 ;i — — — — — — — — 0. 02LIF
RUEY g/ — — 0.001_*#& 0.001 ki — — - - = = — 0.01LLF
Lo g/ 0.001 %% 0.001 k& 0.001 i 0.001 s 0.001 % 0.001 k% = 0.001 k& = 0.001 k& = 0.001 %% 0.0TBIF
[(REEER RO BRBITE R g/ — — 0.05 ki 0.4 — — — — - = — TOLL T
Ao%k ng/! - - 0. 0.1 ki - = - — — — — = 0.8LIF
F5% ng/] — — 0.0 0.0 — — — — — = = — TSR
EEEES 4 S/cm 422 218 4 38 250 280 - 177 - 206 - 180 -
BEBAA > g/ 16 10 1 4 9.6 37 — 7 — 32 — 21 -
IR e g/ = - 0.005 %% 0.005 & = — - - — = - — 0055 F
ZH0IFLY BRE-LE/ ) g/ — = 0.0002 i | 0.0002 ik — — — — — - = — 0.002EL T
[BRE 3 70 100 BIE 1 100 LIk 30 100 LIE - 100 LIk - 100 LIE - 100 LIE -
| [FAFXTFE pg-TEQ/Q 0.15 0.079 — — — — — = = — TSR
*— RERNORBLNN SR VELXRENORELS 5 ﬁ-b}imto)gﬁim&)bén



